KYUNGPOOK Math. J. 63(2023), 539-550
https://doi.org/10.5666/KMJ.2023.63.4.539
pISSN 1225-6951 eISSN 0454-8124
(c) Kyungpook Mathematical Journal

# Generalized $k$-Balancing and $k$-Lucas Balancing Numbers and Associated Polynomials 

Kalika Prasad and Munesh Kumari*<br>Department of Mathematics, Central University of Jharkhand, Ranchi, India<br>e-mails: klkaprsd@gmail.com and muneshnasir94@gmail.com<br>Jagmohan Tanti<br>Department of Mathematics, Babasaheb Bhimrao Ambedkar University, Lucknow, India<br>$e$-mail: jagmohan.t@gmail.com

Abstract. In this paper, we define the generalized $k$-balancing numbers $\left\{B_{n}^{(k)}\right\}$ and $k$ Lucas balancing numbers $\left\{C_{n}^{(k)}\right\}$ and associated polynomials, where $n$ is of the form $s k+r$, $0 \leq r<k$. We give several formulas for these new sequences in terms of classic balancing and Lucas balancing numbers and study their properties. Moreover, we give a Binet style formula, Cassini's identity, and binomial sums of these sequences.

## 1. Introduction

Special number sequences such as the Fibonacci, Lucas, Horadam, Jacobsthal, and balancing numbers sequences are widely studied in number theory. Finding generalizations of such number sequences, establishing new identities, and finding applications of these sequences in other branches of mathematics have become very a popular research goal; see, for example, [6, 13]. Mikkawy and Sogabe [2] introduced a new family of $k$-Fibonacci numbers $F_{n}^{(k)}$ where $n$ is of kind $s k+r, 0 \leq r<k$. Among. other properties, then gave a relation to the classic Fibonacci numbers. Later, Özkan et al. [8] further studied this sequence and introduced a new family of $k$-Lucas numbers. Kumari et al. [7] extended the study to Mersenne numbers and investigated some new families of $k$-Mersenne and generalized $k$-Gaussian Mersenne numbers and their polynomials.

[^0]Motivated by these works on new families of sequences, in this paper, we study a new family of $k$-balancing and $k$-Lucas balancing numbers and associated polynomials, where the concept of balancing numbers and balancers was originally introduced in 1999 by Behera and Panda [1].

A natural number $n$ is said to be a balancing number [1] with balancer $r$ if it satisfies the Diophantine equation

$$
1+2+3+\ldots+(n-1)=(n+1)+(n+2)+\ldots+(n+r)
$$

The balancing numbers $B_{n}$ and Lucas balancing numbers $C_{n}$ are defined as

$$
\begin{align*}
& B_{n+2}=6 B_{n+1}-B_{n}, n \geq 0 \text { with } B_{0}=0, B_{1}=1  \tag{1.1}\\
& \text { and } \quad C_{n+2}=6 C_{n+1}-C_{n}, n \geq 0 \text { with } C_{0}=1, C_{1}=3 \tag{1.2}
\end{align*}
$$

The first few terms of balancing and Lucas-balancing sequence are

| $n$ | $\mathbf{0}$ | $\mathbf{1}$ | 2 | 3 | 4 | 5 | 6 | 7 | 8 | $\ldots$ |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| $B_{n}$ | $\mathbf{0}$ | $\mathbf{1}$ | 6 | 35 | 204 | 1189 | 6930 | 40391 | 235416 | $\ldots$ |
| $C_{n}$ | $\mathbf{1}$ | $\mathbf{3}$ | 17 | 99 | 577 | 3363 | 19601 | 114243 | 665857 | $\ldots$ |

Closed form formulas play an important roll in establishing many algebraic identities. The closed form formulas for balancing and Lucas-balancing numbers [11], are given as

$$
\begin{equation*}
B_{n}=\frac{\lambda_{1}^{n}-\lambda_{2}^{n}}{\lambda_{1}-\lambda_{2}}=\frac{\lambda_{1}^{n}-\lambda_{2}^{n}}{4 \sqrt{2}} \text { and } C_{n}=\frac{\lambda_{1}^{n}+\lambda_{2}^{n}}{2} \tag{1.3}
\end{equation*}
$$

where $\lambda_{1}=3+\sqrt{8}$ and $\lambda_{2}=3-\sqrt{8}$ are the roots of the characteristic equation $x^{2}-6 x+1=0$.

We will use the following useful relations for the balancing and Lucas-balancing numbers.

Lemma 1.1. ([12]) For all integers $m$ and $n$, we have

1. $2 B_{m} C_{m}=B_{2 m}$.
2. $B_{m+n}+B_{m-n}=2 B_{m} C_{n}$.
3. $B_{m+n}-B_{m-n}=2 C_{m} B_{n}$.
4. $C_{n-m} C_{n+m}-C_{n}^{2}=\frac{1}{2}\left(C_{2 m}-1\right)$.
5. $C_{2 n}=2 C_{n}^{2}-1$.
6. $C_{n}^{2}=8 B_{n}^{2}+1$.

Fibonacci numbers have many generalizations, in which both the initial values and/or the recurrence relation are modified. The $k$-Fibonacci numbers, tribonacci numbers, Horadam numbers, generalized Fibonacci and Leonardo numbers, higher order Fibonacci numbers, are some examples of generalization of Fibonacci numbers. Likewise, $k$-balancing numbers $\left\{B_{k, n}\right\}$ and $k$-Lucas balancing numbers $\left\{C_{k, n}\right\}$, both
generalisations of balancing numbers, were introduced and studied by Özkoc and Tekcan [9] and Ray [11]. These sequences are given by the following recurrences:

$$
\begin{array}{ll} 
& B_{k, n+2}=6 B_{k, n+1}-B_{k, n}, n \geq 0 \quad \text { with } \quad B_{k, 0}=0, B_{k, 1}=1 \\
\text { and } \quad & C_{k, n+2}=6 C_{k, n+1}-C_{k, n}, n \geq 0 \quad \text { with } \quad C_{k, 0}=1, C_{k, 1}=3 k
\end{array}
$$

Later in [10], Ray extended the $k$-balancing numbers $B_{k, n}$ to the sequence of balancing polynomials $\left\{B_{n}(x)\right\}$ by replacing $k$ with a real variable $x$ and presented numerous properties of balancing polynomials. Frontczak [3] also studied the balancing polynomials by relating them to Chebyshev polynomials.

In this paper, we give a new generalization of balancing and Lucas-balancing numbers à la [2], which we call the generalized $k$-balancing and $k$-Lucas balancing numbers. They are defined in Section 2. Then in Section 3, we give associated polynomials having a connection with balancing polynomials.

## 2. Generalized $k$-Balancing Numbers

Our main defintion is as follows.
Definition 2.1. Let $k \in \mathbb{N}$ and $n \in \mathbb{N} \cup\{0\}$ then $\exists!s, r \in \mathbb{N} \cup\{0\}$ such that $n=s k+r, 0 \leq r<k$. The generalized $k$-balancing and $k$-Lucas balancing numbers $B_{n}^{(k)}$ and $C_{n}^{(k)}$ are defined as

$$
\begin{align*}
B_{n}^{(k)} & =\frac{1}{(4 \sqrt{2})^{k}}\left(\lambda_{1}^{s}-\lambda_{2}^{s}\right)^{k-r}\left(\lambda_{1}^{s+1}-\lambda_{2}^{s+1}\right)^{r} \\
C_{n}^{(k)} & =\frac{1}{2^{k}}\left(\lambda_{1}^{s}+\lambda_{2}^{s}\right)^{k-r}\left(\lambda_{1}^{s+1}+\lambda_{2}^{s+1}\right)^{r} \tag{2.1}
\end{align*}
$$

where $\lambda_{1}$ and $\lambda_{2}$ are the roots of the characteristic equation corresponding to balancing sequence (1.1).

From Definition 2.1 and Eqn. (1.3), one gets the following relation between the generalized $k$-balancing and $k$-Lucas balancing numbers and the balancing and Lucas balancing numbers.

$$
\begin{equation*}
B_{n}^{(k)}=B_{s}^{k-r} B_{s+1}^{r} \quad \text { and } \quad C_{n}^{(k)}=C_{s}^{k-r} C_{s+1}^{r}, \quad \text { where } n=s k+r \tag{2.2}
\end{equation*}
$$

If $k=1$ then $r=0$ and hence $n=s$. Therefore, $B_{n}^{(1)}$ and $C_{n}^{(1)}$ are the classic balancing and Lucas balancing numbers i.e. $B_{n}^{(1)}=B_{n}$ and $C_{n}^{(1)}=C_{n}$.

In the case that $k=2$ or 3 we note some identities showing the relations between generalized $k$-balancing numbers and balancing numbers:

1. $B_{2 s}^{(2)}=B_{s}^{2}$.
2. $C_{2 s}^{(2)}=C_{s}^{2}=\left(C_{2 s}+1\right) / 2$.
3. $B_{2 s+1}^{(2)}=B_{s} B_{s+1}$.
4. $C_{2 s+1}^{(2)}=C_{s} C_{s+1}$.
5. $B_{3 s}^{(3)}=B_{s}^{3}$.
6. $C_{3 s}^{(3)}=C_{s}^{3}$.
7. $B_{3 s+1}^{(3)}=B_{s}^{2} B_{s+1}$.
8. $C_{3 s+1}^{(3)}=C_{s}^{2} C_{s+1}$.
9. $B_{3 s+2}^{(3)}=B_{s} B_{s+1}^{2}$.
10. $C_{3 s+2}^{(3)}=C_{s} C_{s+1}^{2}$.

One can also check that $B_{2 s+1}^{(2)}=6 B_{2 s}^{(2)}-B_{2 s-1}^{(2)}$ and $B_{3 s+1}^{(3)}=6 B_{3 s}^{(3)}-B_{3 s-1}^{(3)}$. The same recurrences hold for generalized $k$-Lucas balancing numbers.

For $k=1,2,3,4,5$, a list of first few numbers of the generalized $k$-balancing and $k$-Lucas balancing numbers are displayed in Tables 1 and 2.

| $n \downarrow$ | $B_{n}^{(k)}$ | $k=1$ | $k=2$ | $k=3$ | $k=4$ | $k=5$ |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| 0 | $B_{0}^{(k)}$ | 0 | 0 | 0 | 0 | 0 |
| 1 | $B_{1}^{(k)}$ | 1 | 0 | 0 | 0 | 0 |
| 2 | $B_{2}^{(k)}$ | 6 | 1 | 0 | 0 | 0 |
| 3 | $B_{3}^{(k)}$ | 35 | 6 | 1 | 0 | 0 |
| 4 | $B_{4}^{(k)}$ | 204 | 36 | 6 | 1 | 0 |
| 5 | $B_{5}^{(k)}$ | 1189 | 210 | 36 | 6 | 1 |
| 6 | $B_{6}^{(k)}$ | 6930 | 1225 | 216 | 36 | 6 |
| 7 | $B_{7}^{(k)}$ | 40391 | 7140 | 1260 | 216 | 36 |

Table 1: Generalized $k$-balancing numbers

| $n \downarrow$ | $C_{n}^{(k)}$ | $k=1$ | $k=2$ | $k=3$ | $k=4$ | $k=5$ |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| 0 | $C_{0}^{(k)}$ | 1 | 1 | 1 | 1 | 1 |
| 1 | $C_{1}^{(k)}$ | 3 | 3 | 3 | 3 | 3 |
| 2 | $C_{2}^{(k)}$ | 17 | 9 | 9 | 9 | 9 |
| 3 | $C_{3}^{(k)}$ | 99 | 51 | 27 | 27 | 27 |
| 4 | $C_{4}^{(k)}$ | 577 | 289 | 153 | 81 | 81 |
| 5 | $C_{5}^{(k)}$ | 3363 | 1683 | 867 | 459 | 243 |
| 6 | $C_{6}^{(k)}$ | 19601 | 9801 | 4913 | 2601 | 1377 |
| 7 | $C_{7}^{(k)}$ | 114243 | 57123 | 28611 | 14739 | 7803 |

Table 2: Generalized $k$-Lucas balancing numbers

Theorem 2.2. For $k, s \in \mathbb{N}$, we have

$$
B_{s k}^{(k)}=B_{s}^{k} \quad \text { and } \quad C_{s k}^{(k)}=C_{s}^{k}
$$

Proof. If $r=0$ then $n=s k$ and hence from Eqn. (2.2) the above results are proved.

Lemma 2.3. We have

$$
B_{s k-1}^{(k)}=B_{s-1} B_{s}^{k-1} \quad \text { and } \quad C_{s k-1}^{(k)}=C_{s-1} C_{s}^{k-1}
$$

Proof. Since,

$$
B_{s k-1}^{(k)}=B_{s k-k+k-1}^{(k)}=B_{(s-1) k+(k-1)}^{(k)}=B_{s-1} B_{s}^{k-1}
$$

Similarly, the second result holds.
Thus, we conclude that

$$
B_{s k+r}^{(k)}=B_{s}^{k-r} B_{s+1} r .
$$

A similar identity holds for $C_{s k+r}^{(k)}$.
Theorem 2.4. For $a \geq 1$ and $n \in \mathbb{N}$ such that $n=s k+r, 0 \leq r<k$, we have

$$
\left(W_{n}^{(k)}\right)^{a}=\left(W_{a s}^{(a)}\right)^{k-r}\left(W_{a(s+1)}^{(a)}\right)^{r}, \quad \text { where } W_{i}=B_{i} \text { or } W_{i}=C_{i} .
$$

Proof. From Eqn. (2.2) for $W_{i}=B_{i}$ or $W_{i}=C_{i}$, we can write

$$
\left(W_{n}^{(k)}\right)^{a}=\left(W_{s}^{k-r} W_{s+1}^{r}\right)^{a}=\left(W_{s}^{a}\right)^{k-r}\left(W_{s+1}^{a}\right)^{r}=\left(W_{a s}^{(a)}\right)^{k-r}\left(W_{a(s+1)}^{(a)}\right)^{r}
$$

Thus using Theorem 2.2 in the above equation, the result holds.
In particular for $a=2$ in Theorem 2.4, we have

$$
\left(B_{n}^{(k)}\right)^{2}=\left(B_{2 s}^{(2)}\right)^{k-r}\left(B_{2(s+1)}^{(2)}\right)^{r} \quad \text { and } \quad\left(C_{n}^{(k)}\right)^{2}=\left(C_{2 s}^{(2)}\right)^{k-r}\left(C_{2(s+1)}^{(2)}\right)^{r}
$$

Theorem 2.5. For $k, s \in \mathbb{N}$ such that $n=s k+1$, the following relations are verified:

$$
B_{n}^{(k)}=6 B_{s k}^{(k)}-B_{s k-1}^{(k)} \quad \text { and } \quad C_{n}^{(k)}=6 C_{s k}^{(k)}-C_{s k-1}^{(k)}
$$

Proof. For the first identity, from Theorem 2.2 and Lemma 2.3, we write

$$
\begin{aligned}
6 B_{s k}^{(k)}-B_{s k-1}^{(k)} & =6 B_{s}^{k}-B_{s-1} B_{s}^{k-1} \\
& =B_{s}^{k-1}\left(6 B_{s}-B_{s-1}\right) \\
& =B_{s}^{k-1} B_{s+1}=B_{s k+1}^{(k)}
\end{aligned}
$$

A similar argument holds for the second identity.

Theorem 2.6. Let $s, k \in \mathbb{N}$, then for fixed $k$, $s$, the following results hold:

$$
\begin{align*}
\sum_{a=0}^{k-1}\binom{k-1}{a} B_{s k+a}^{(k)} & =B_{s}\left(B_{s}+B_{s+1}\right)^{k-1}  \tag{2.3}\\
\sum_{a=0}^{k-1}(-1)^{a}\binom{k-1}{a} B_{s k+a}^{(k)} & =(-1)^{k-1} B_{s}\left(B_{s+1}-B_{s}\right)^{k-1}  \tag{2.4}\\
\sum_{a=0}^{k-1} B_{s k+a}^{(k)} & =\frac{B_{s}\left(B_{k(s+1)}^{(k)}-B_{s k}^{(k)}\right)}{B_{s+1}-B_{s}}  \tag{2.5}\\
\sum_{a=0}^{k-1} a B_{s k+a}^{(k)} & =\frac{B_{s(k+2)+1}^{(k+2)}-k B_{s(k+2)+k}^{(k+2)}+(k-1) B_{s(k+2)+k+1}^{(k+2)}}{\left(B_{s}-B_{s+1}\right)^{2}} \tag{2.6}
\end{align*}
$$

Proof. For the first identity (2.3), using relation (2.2), we write

$$
\begin{aligned}
\sum_{a=0}^{k-1}\binom{k-1}{a} B_{s k+a}^{(k)} & =\sum_{a=0}^{k-1}\binom{k-1}{a} B_{s}^{k-a} B_{s+1}^{a} \\
& =B_{s} \sum_{a=0}^{k-1}\binom{k-1}{a} B_{s+1}^{a} B_{s}^{k-1-a} \\
& =B_{s}\left(B_{s}+B_{s+1}\right)^{k-1} \quad(\text { using the Binomial theorem })
\end{aligned}
$$

Similarly, for the second identity (2.4), we have

$$
\begin{aligned}
\sum_{a=0}^{k-1}(-1)^{a}\binom{k-1}{a} B_{s k+a}^{(k)} & =(-1)^{k-1} \sum_{a=0}^{k-1}(-1)^{k-1-a}\binom{k-1}{a} B_{s}^{k-a} B_{s+1}^{a} \\
& =(-1)^{k-1} B_{s} \sum_{a=0}^{k-1}\binom{k-1}{a} B_{s+1}^{a}\left(-B_{s}\right)^{k-1-a} \\
& =(-1)^{k-1} B_{s}\left(B_{s+1}-B_{s}\right)^{k-1} \quad \text { (using the Binomial theorem). }
\end{aligned}
$$

For the third identity (2.5), since from (2.2) we write $B_{s k+a}^{(k)}=B_{s}^{k-a} B_{s+1}^{a}=$ $B_{s}^{k}\left(B_{s+1} / B_{s}\right)^{a}$. Thus

$$
\begin{aligned}
\sum_{a=0}^{k-1} B_{s k+a}^{(k)} & =\sum_{a=0}^{k-1} B_{s}^{k}\left(\frac{B_{s+1}}{B_{s}}\right)^{a}=B_{s}^{k} \sum_{a=0}^{k-1}\left(\frac{B_{s+1}}{B_{s}}\right)^{a} \\
& =B_{s}^{k} \frac{\left(B_{s+1} / B_{s}\right)^{k}-1}{B_{s+1} / B_{s}-1} \\
& =B_{s}\left(\frac{B_{s+1}^{k}-B_{s}^{k}}{B_{s+1}-B_{s}}\right) \\
& =\frac{B_{s}}{B_{s+1}-B_{s}}\left(B_{k(s+1)}^{(k)}-B_{s k}^{(k)}\right)
\end{aligned}
$$

And, for the last identity (2.6), note that $\sum_{a=1}^{k} a x^{a-1}=\left(1-k x^{k-1}+(k-1) x^{k}\right) /(1-$ $x)^{2}$. Thus,

$$
\begin{aligned}
\sum_{a=0}^{k-1} a B_{s k+a}^{(k)} & =B_{s}^{k-1} B_{s+1} \sum_{a=0}^{k-1} a\left(\frac{B_{s+1}}{B_{s}}\right)^{a-1} \\
& =B_{s}^{k-1} B_{s+1}\left(\frac{1-k\left(B_{s+1} / B_{s}\right)^{k-1}+(k-1)\left(B_{s+1} / B_{s}\right)^{k}}{\left(1-B_{s+1} / B_{s}\right)^{2}}\right) \\
& =\frac{B_{s}^{k-1} B_{s+1}-k B_{s+1}^{k}+(k-1) B_{s+1}^{k+1} / B_{s}}{\left(1-B_{s+1} / B_{s}\right)^{2}} \\
& =\frac{B_{s}^{k+1} B_{s+1}-k B_{s}^{2} B_{s+1}^{k}+(k-1) B_{s} B_{s+1}^{k+1}}{\left(B_{s}-B_{s+1}\right)^{2}} \\
& =\frac{B_{s(k+2)+1}^{(k+2)}-k B_{s(k+2)+k}^{(k+2)}+(k-1) B_{s(k+2)+k+1}^{(k+2)}}{\left(B_{s}-B_{s+1}\right)^{2}} \quad \text { (using Eqn. (2.2)). }
\end{aligned}
$$

Note that Theorem 2.6 is also valid for the generalized $k$-Lucas balancing numbers $\left\{C_{s}^{k}\right\}$.
Theorem 2.7. For $k, s \in \mathbb{N}$, we have

$$
B_{s+1}^{k}-B_{s}^{k}=B_{s k+k}^{(k)}-B_{s k}^{(k)} \quad \text { and } \quad C_{s+1}^{k}-C_{s}^{k}=C_{s k+k}^{(k)}-C_{s k}^{(k)}
$$

Proof. Results follow from Eqn. (2.2).
Theorem 2.8 (Cassini's identity ). For $s, k \geq 2$, we have

$$
\begin{aligned}
B_{s k+a}^{(k)} B_{s k+a-2}^{(k)}-\left(B_{s k+a-1}^{(k)}\right)^{2} & = \begin{cases}-B_{s}^{2 k-2} & a=1, \\
0 & a \neq 1\end{cases} \\
\text { and } \quad C_{s k+a}^{(k)} C_{s k+a-2}^{(k)}-\left(C_{s k+a-1}^{(k)}\right)^{2} & = \begin{cases}8 C_{s}^{2 k-2} & a=1 \\
0 & a \neq 1\end{cases}
\end{aligned}
$$

Proof. For $a \neq 1$, from Eqn. (2.2) we write

$$
\begin{aligned}
B_{s k+a}^{(k)} B_{s k+a-2}^{(k)}-\left(B_{s k+a-1}^{(k)}\right)^{2} & =\left(B_{s}^{k-a} B_{s+1}^{a}\right)\left(B_{s}^{k-a+2} B_{s+1}^{a-2}\right)-\left(B_{s}^{k-a+1} B_{s+1}^{a-1}\right)^{2} \\
& =B_{s}^{2 k-2 a+2}\left[B_{s+1}^{a} B_{s+1}^{a-2}-\left(B_{s+1}\right)^{2 a-2}\right] \\
& =0
\end{aligned}
$$

and if $a=1$ then with Eqn. (2.2) and Lemma 2.3

$$
\begin{aligned}
B_{s k+1}^{(k)} B_{s k-1}^{(k)}-\left(B_{s k}^{(k)}\right)^{2} & =\left(B_{s}^{k-1} B_{s+1}\right)\left(B_{s-1} B_{s}^{k-1}\right)-\left(B_{s}^{k}\right)^{2} \\
& =B_{s}^{2 k-2}\left[B_{s+1} B_{s-1}-\left(B_{s}\right)^{2}\right] \\
& =-B_{s}^{2 k-2} \quad \text { (simplified using Eqn. (1.3)). }
\end{aligned}
$$

A similar argument holds for the second identity.
Theorem 2.9. For integers $s, s_{1}, s_{2}$ and $k \geq 1$, we have

1. $B_{2 s k}^{(k)}=2^{k} B_{s k}^{(k)} C_{s k}^{(k)}$.
2. $C_{2 s k}^{(k)}=\left(2 C_{s}^{2}-1\right)^{k}=\left(2 B_{s}^{2}+1\right)^{k}$.
3. $\left(B_{s_{1}+s_{2}}+B_{s_{1}-s_{2}}\right)^{k}=2^{k} B_{s_{1} k}^{(k)} C_{s_{2} k}^{(k)}$.
4. $\left(C_{s_{1}+s_{2}}+C_{s_{1}-s_{2}}\right)^{k}=2^{k} C_{s_{1} k}^{(k)} C_{s_{2} k}^{(k)}$.
5. $\left(B_{s_{1}+s_{2}}-B_{s_{1}-s_{2}}\right)^{k}=2^{k} C_{s_{1} k}^{(k)} B_{s_{2} k}^{(k)}$.
6. $\left(C_{s_{1}+s_{2}}-C_{s_{1}-s_{2}}\right)^{k}=$ $16^{k} B_{s_{1} k}^{(k)} B_{s_{2} k}^{(k)}$.
7. $B_{2 s_{1}}^{(2)}-B_{2 s_{2}}^{(2)}=B_{s_{1}+s_{2}} B_{s_{1}-s_{2}}$.
8. $C_{2 s_{1}}^{(2)}-C_{2 s_{2}}^{(2)}=8 B_{s_{1}+s_{2}} B_{s_{1}-s_{2}}$.

Proof. From Theorem 2.2 and 1 of Lemma 1.1, note that for the first identity, we have

$$
B_{2 s k}^{(k)}=B_{2 s}^{k}=\left(2 B_{s} C_{s}\right)^{k}=2^{k} B_{s}^{k} C_{s}^{k}=2^{k} B_{s k}^{(k)} C_{s k}^{(k)}
$$

For the second identity, from 2 of Lemma 1.1, we have

$$
\left(B_{s_{1}+s_{2}}+B_{s_{1}-s_{2}}\right)^{k}=\left(2 B_{s_{1}} C_{s_{2}}\right)^{k}=2^{k} B_{s_{1}}^{k} C_{s_{2}}^{k}=2^{k} B_{s_{1} k}^{(k)} C_{s_{2} k}^{(k)}
$$

For the third identity, from 3 of Lemma 1.1, we have

$$
\left(B_{s_{1}+s_{2}}-B_{s_{1}-s_{2}}\right)^{k}=\left(2 C_{s_{1}} B_{s_{2}}\right)^{k}=2^{k} C_{s_{1}}^{k} B_{s_{2}}^{k}=2^{k} C_{s_{1} k}^{(k)} B_{s_{2} k}^{(k)}
$$

For the fourth identity, from Theorem 2.2 and 4 of Lemma 1.1, we write

$$
B_{2 s_{1}}^{(2)}-B_{2 s_{2}}^{(2)}=B_{s_{1}}^{2}-B_{s_{2}}^{2}=B_{s_{1}+s_{2}} B_{s_{1}-s_{2}}
$$

The argument for identities $5-8$ are similar to that of $1-4$ using Theorem 2.2 and Lemma 1.1.

## 3. Generalized $k$-Balancing and $k$-Lucas Balancing Polynomials

For $n \geq 0$, the balancing and Lucas balancing polynomials $B_{n}(x)$ and $C_{n}(x)$ satisfy the recurrence relation

$$
\begin{equation*}
W_{n+2}(x)=6 x W_{n+1}(x)-W_{n}(x) \tag{3.1}
\end{equation*}
$$

but with the initial values as $B_{0}(x)=0, B_{1}(x)=1$ and $C_{0}(x)=1, C_{1}(x)=3 x$, respectively. The Binet type formulas for these polynomials are, respectively,

$$
\begin{equation*}
B_{n}(x)=\frac{\lambda_{1}^{n}(x)-\lambda_{2}^{n}(x)}{\sqrt{9 x^{2}-1}} \quad \text { and } \quad C_{n}(x)=\frac{\lambda_{1}^{n}(x)+\lambda_{2}^{n}(x)}{2} \tag{3.2}
\end{equation*}
$$

where $\lambda_{1}=\left(3 x+\sqrt{9 x^{2}-1}\right) / 2$ and $\lambda_{2}=\left(3 x-\sqrt{9 x^{2}-1}\right) / 2$ are roots of the characteristic equation $\lambda^{2}-6 x \lambda+1=0$.

Now, we define the generalized $k$-balancing and $k$-Lucas balancing polynomials in a similar fashion to the preceding section.

Definition 3.1. Let $k \in \mathbb{N}$ and for $n \geq 0, \exists!s, r \in \mathbb{N} \cup\{0\}$ such that $n=s k+r$, $0 \leq r<k$. Then the generalized $k$-balancing and $k$-Lucas balancing polynomials $B_{n}^{(k)}(x)$ and $C_{n}^{(k)}(x)$ are defined as

$$
\begin{aligned}
B_{n}^{(k)}(x) & =\left(\frac{\lambda_{1}^{s}(x)-\lambda_{2}^{s}(x)}{\sqrt{9 x^{2}-1}}\right)^{k-r}\left(\frac{\lambda_{1}^{s+1}(x)-\lambda_{2}^{s+1}(x)}{\sqrt{9 x^{2}-1}}\right)^{r}, \\
\text { and } \quad C_{n}^{(k)}(x) & =\left(\frac{\lambda_{1}^{s}(x)+\lambda_{2}^{s}(x)}{2}\right)^{k-r}\left(\frac{\lambda_{1}^{s+1}(x)+\lambda_{2}^{s+1}(x)}{2}\right)^{r} .
\end{aligned}
$$

From Binet's formula (3.2) and Definition 3.1, we deduce the following relations between newly introduced sequences and existing one

$$
\begin{equation*}
W_{s k+r}^{(k)}(x)=W_{s}^{k-r}(x) W_{s+1}^{r}(x), \quad \text { where } W_{i}(x)=B_{i}(x) \text { or } C_{i}(x) \tag{3.3}
\end{equation*}
$$

For the case $k=1$, we get $r=0$. Hence, from Eqn. (3.3,) we have $W_{s}^{(1)}(x)=W_{s}(x)$.
For instance at $k=2,3$ in (3.3), we have noted some identities showing relations between newly introduced polynomials sequences and classic balancing/Lucas balancing polynomials:

1. $W_{2 s}^{(2)}(x)=W_{s}^{2}(x)$.
2. $W_{2 s+1}^{(2)}(x)=W_{s}(x) W_{s+1}(x)$.
3. $W_{3 s}^{(3)}(x)=W_{s}^{3}(x)$.
4. $W_{3 s+1}^{(3)}(x)=W_{s}^{2}(x) W_{s+1}(x)$.
5. $W_{3 s+2}^{(3)}(x)=W_{s}(x) W_{s+1}^{2}(x)$.
6. $W_{4 s}^{(4)}(x)=W_{s}^{4}(x)$.
7. $W_{4 s+1}^{(4)}(x)=W_{s}^{3}(x) W_{s+1}(x)$.
8. $W_{4 s+2}^{(4)}(x)=W_{s}^{2}(x) W_{s+1}^{2}(x)$.
9. $W_{4 s+3}^{(4)}(x)=W_{s}(x) W_{s+1}^{3}(x)$.

Also the recurrence relations $W_{2 s+1}^{(2)}(x)=6 W_{2 s}^{(2)}(x)-W_{2 s-1}^{(2)}(x)$ for $k=2$ and $W_{3 s+1}^{(3)}(x)=6 W_{3 s}^{(3)}(x)-W_{3 s-1}^{(3)}(x)$ for $k=3$ are verified.

Theorem 3.2. For $k, s \in \mathbb{N}$, we have

$$
W_{s k}^{(k)}(x)=W_{s}^{k}(x), \quad \text { where } \quad W_{i}(x)=B_{i}(x) \text { or } C_{i}(x)
$$

Proof. If $r=0$ then $s k+r=s k$ and hence from Eqn. (3.3) the result follows immediately.

By a similar argument to Lemma 2.3, we have $W_{s k-1}^{(k)}(x)=W_{s-1}(x) W_{s}^{k-1}(x)$ which will be used in the next theorem.

Theorem 3.3. For $k, s \in \mathbb{N}$ such that $n=s k+1$, the following recurrence relation is satisfied.

$$
W_{s k+1}^{(k)}(x)=6 x W_{s k}^{(k)}(x)-W_{s k-1}^{(k)}(x)
$$

Proof. From Eqn. (3.3) and Eqn. (3.1), we have

$$
\begin{aligned}
6 x W_{s k}^{(k)}(x)-W_{s k-1}^{(k)}(x) & =6 x W_{s}^{k}(x)-W_{s-1}(x) W_{s}^{k-1}(x) \\
& =W_{s}^{k-1}(x)\left(6 x W_{s}(x)-W_{s-1}(x)\right) \\
& =W_{s}^{k-1}(x) W_{s+1}(x) \\
& =W_{s k+1}^{(k)}(x)
\end{aligned}
$$

Theorem 3.4. We have

$$
W_{s k-1}^{(k)}(x)=W_{s-1}(x) W_{s}^{k-1}(x), \quad \text { where } \quad W_{i}(x)=B_{i}(x) \text { or } C_{i}(x)
$$

Proof. Since,

$$
W_{s k-1}^{(k)}(x)=W_{s k-k+k-1}^{(k)}(x)=W_{(s-1) k+(k-1)}^{(k)}(x)=W_{s-1}(x) W_{s}^{k-1}(x)
$$

An analogue argument to the preceding section proves the following theorems, so we omit the proofs.

Theorem 3.5. For $k, s \in \mathbb{N}$ we have,

$$
W_{s+1}^{k}(x)-W_{s}^{k}(x)=W_{s k+k}^{(k)}(x)-W_{s k}^{(k)}(x)
$$

Theorem 3.6 (Cassini's identity). Let $k, s \geq 2$, we have
$W_{n k+a}^{(k)}(x) W_{n k+a-2}^{(k)}(x)-\left(W_{n k+a-1}^{(k)}\right)^{2}(x)= \begin{cases}-B_{n}^{2 k-2}(x), & : \text { if } a=1 \text { and } W_{n}(x)=B_{n}(x), \\ 8 C_{n}^{2 k-2}(x), & : \text { if } a=1 \text { and } W_{n}(x)=C_{n}(x), \\ 0, & : a \neq 1 .\end{cases}$
Theorem 3.7. For integers $s, s_{1}, s_{2}$ and $k \geq 1$, the following relations are valid:

1. $B_{2 s k}^{(k)}(x)=B_{s k}^{(k)}(x)\left[B_{s+1}(x)-B_{s-1}(x)\right]^{k}$.
2. $B_{2 s_{1}}^{(2)}(x)-B_{2 s_{2}}^{(2)}(x)=B_{s_{1}-s_{2}}(x) B_{s_{1}+s_{2}}(x)$.
3. $\left[B_{s+1}(x)-B_{s-1}(x)\right]^{k}=2^{k} C_{s k}^{(k)}(x)$.
4. $\left[3 x B_{s}(x)-B_{s-1}(x)\right]^{k}=2^{k} C_{s k}^{(k)}(x)$.
5. $\left[B_{s+1}(x)-3 x B_{s}(x)\right]^{k}=C_{s k}^{(k)}(x)$.
6. $\left[B_{s+1}^{2}(x)-B_{s-1}^{2}(x)\right]^{k}=6^{k} x^{k} B_{2 s k}^{(k)}(x)$.
7. $\left[C_{s+1}^{2}(x)-C_{s-1}^{2}(x)\right]^{k}=6^{k} x^{k}\left(9 x^{2}-1\right)^{k} B_{2 s k}^{(k)}(x)$.
8. $C_{2 s_{1}}^{(2)}(x)+C_{2 s_{2}}^{(2)}(x)=C_{s_{1}-s_{2}}(x) C_{s_{1}+s_{2}}(x)+1$.
9. $C_{2 s}^{(2)}(x)-\left(9 x^{2}-1\right) B_{2 s}^{(2)}(x)=1$.
10. $\left[3 x C_{s-1}(x)+\left(9 x^{2}-1\right) B_{s-1}(x)\right]^{k}=C_{s k}^{(k)}(x)$.
11. $B_{2 s k}^{(k)}(x)=2^{k} B_{s k}^{(k)}(x) C_{s k}^{(k)}(x)$.
12. $C_{2 s k}^{(k)}(x)=\left[2 C_{s}^{2}(x)-1\right]^{k}$.

Proof. The arguments for these identities are analog to the proof of Theorem 2.9 and can be easily verified using Proposition 2.3 of [3] and Section 3 of [10] along with Theorem 3.2.

## References

[1] A. Behera and G. Panda, On the square roots of triangular numbers, Fibonacci Quart., 37(1999), 98-105.
[2] M. El-Mikkawy and T. Sogabe, A new family of $k$-Fibonacci numbers, Appl. Math. Comput., 215(12)(2010), 4456-4461.
[3] R. Frontczak, On balancing polynomials, Appl. Math. Sci., 13(2)(2019), 57-66.
[4] R. Frontczak and T. Goy, Lucas-Euler relations using balancing and Lucasbalancing polynomials, Kyungpook Math. J., 61(3)(2021), 473-486.
[5] R. Frontczak and K. Prasad, Balancing polynomials, Fibonacci numbers and some new series for $\pi$, Mediterr. J. Math., 20(4)(2023), Article No. 207.
[6] T. Koshy, Fibonacci and Lucas Numbers with Applications, John Wiley and Sons Inc., New York(2001).
[7] M. Kumari, J. Tanti, and K. Prasad. On some new families of k-Mersenne and generalized k -Gaussian Mersenne numbers and their polynomials. Contrib. Discrete Math., 18(2)(2023).
[8] E. Özkan, İ. Altun and A. Göçer, On relationship among a new family of $k$ Fibonacci, $k$-Lucas numbers, Fibonacci and Lucas numbers, Chiang Mai J. Sci., 44(2017), 1744-1750.
[9] A. Özkoc and A. Tekcan, On $k$-balancing numbers, Notes Number Theory Discrete Math., 23(3)(2017), 38-52.
[10] P. K. Ray, Balancing polynomials and their derivatives, Ukr. Math. J., 69(4)(2017), 646-663.
[11] P. K. Ray, On the properties of $k$-balancing and $k$-Lucas-balancing numbers, Acta Comment. Univ. Tartu. Math., 21(2)(2017), 259-274.
[12] S. Rayaguru and G. Panda, Sum formulas involving powers of balancing and Lucas-balancing numbers - II, Notes Number Theory Discrete Math., 25(3)(2019), 102-110.
[13] S. Vajda, Fibonacci and Lucas numbers, and the golden section: theory and applications, Courier Corporation(2008).


[^0]:    * Corresponding Author.

    Received February 7, 2023; revised August 2, 2023; accepted August 9, 2023.
    2020 Mathematics Subject Classification: 11B39, 11B37, 65Q30.
    Key words and phrases: $k$-balancing numbers, $k$-Lucas balancing numbers, $k$-balancing and $k$-Lucas balancing polynomials, Partial sums.
    The first and second authors are thankful to UGC, India for the Senior Research Fellowship (1196/CSIR-UGC NET JUNE 2019 and 1057/CSIR-UGC NET JUNE 2018).

